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REAAXXKEK T EIHY | ETHH | BIT#E (%) | ETE(%)
TrEH 2,159 2,150 2,100 99.5% 97.2%
A1) 265 264 252 99.6% 95.0%

i3] 24 24 22 100.0% 91.6%

BE 161 159 147 98.7% 91.3%

1B B 772 766 762 99.2% 98.7%

B 45 45 43 100.0% 95.5%

B 331 331 331 100.0% 100.0%

ks 464 464 446 100.0% 96.1%

TK 3 3 3 100.0% 100.0%

NE 5 5 5 100.0% 100.0%
NEEXEE 89 89 89 100.0% 100.0%
HERAI 2,159 2,150 2,100 99.5% 97.2%
SF 26 26 26 100.0% 100.0%
@Y 535 535 535 100.0% 100.0%
JEEY 1,598 1,589 1,539 99.4% 96.3%
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¥ A A KRN ‘ﬁé;ﬁ'ﬁ BTHN | =TEN | BTE%) | =TEO%)
TR (£FE) 26 26 26 100.0% 100.0%
saf)Il 5 5 5 100.0% 100.0%

B R 16 16 16 100.0% 100.0%

B 1 1 1 100.0% 100.0%
NEEFE 4 4 4 100.0% 100.0%
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A AKESR &E}%‘E BTHY | STHS | #TE (%) | =TE%)
TR (Fay) 535 535 535 100.0% 100.0%
A7)l 71 71 71 100.0% 100.0%

V3] 13 13 13 100.0% 100.0%

B iR 394 394 394 100.0% 100.0%

B 13 13 13 100.0% 100.0%

Tk 3 3 3 100.0% 100.0%
NEEFEE 41 41 41 100.0% 100.0%
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%A AKEN ﬁéé;ﬁ'ﬂ BTHE | STHEN | BTE%) | =TE0)
THERIGCEAY) 1,598 1,589 1,539 99.4% 96.3%
LI 189 188 176 99.4% 93.1%
fb A 11 11 9 100.0% 81.8%
BE 161 159 147 98.7% 91.3%
Sk 362 356 352 98.3% 97.2%
B 32 32 30 100.0% 93.7%
B 330 330 330 100.0% 100.0%
peh: 464 464 446 100.0% 96.1%
NE 5 5 5 100.0% 100.0%
NEEFE 44 44 44 100.0% 100.0%
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